Quiz 09, MAT115, Spring 2024
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Problem 1: In this case we have a stick fractal. The initiator is a stick; and we divide it into two sticks:
one a quarter of the length of the original, and the other one half the length of the original stick.
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Questions:
J/
; a. (2 pts) The initial stick we call generation 0, and the generator transforms it into generation 1.
u' . Dot again, and you reach generation 2. Draw generation 3.

b. (2 pts) A stick is divided into more sticks. How many sticks appear in generations 3, 4, and 5?7
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c. (1 pt) Theinitial stick has length equal to one unit. How much length is left in generation 1,
after the first part is removed? How much length is left in generations 2, 3, 4, and 5?7
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Problem 1: In this case we have a stick fractal. The initiator is a stick; and we divide it into two sticks:
one a quarter of the length of the original, and the other one half the length of the original stick.
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a. (2 pts) The initial stick we call generation 0, and the generator transforms it into generation 1.
Do it again, and you reach generation 2. Draw generation 3.

b. (2 Ets) A stick is divided into more sticks. How many sticks appear in generations 3, 4, and 57
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¢. (1 pt) Theinitial stick has length equal to one unit. How much length is left in generation 1,
1 after the first part is removed? How much length is left in generations 2, 3, 4, and 5?
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Problem 1: In this case we have a stick fractal. The initiator is a stick; and we divide it into two sticks:
one a quarter of the length of the original, and the other one half the length of the original stick.
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Questions:
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j a. (2 pts) The initial stick we call generation 0, and the generator transforms it into generation 1.
Do i:/again, and you reach generation 2. Draw generation 3.

b. (2 pts) A stick is divided into more sticks. How many sticks appear in generations 3, 4, and 5?
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Problem 1: In this case we have a stick fractal. The initiator is a stick; and we divide it into two sticks:

one a quarter of the length of the original, and the other one half the length of the original stick.
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a. (2 pts) The initial stick we call generation 0, and the generator transforms it into generation 1.
Do it again, and you reach generation 2. Draw generation 3.

b. (2 pts) A stick is divided into more sticks. How many sticks appear in generations 3, 4, and 5?
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c. (1 pt) Theinitial stick has length equal to one unit. How much length is left in generation 1,

after the first part is removed? How much length is left in generations 2, 3,4, and 57
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Problem 2: In this case we have an area fractal. The initiator is a square; and we divide it into 9 squares,
and remove the middle square, as shown in these images. Now we can “do it again!”
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Questions:
a. (2 pts) Draw the next generation G2, generation 2, on the G1 square above.

b. (2 pts) The initial square is divided into 9 subsquares, and then 1 is removed. How many
squares will appear in generations 2, 3,4, and 57
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b. (1 pt) The initial square has area equal to one unit. How much area is left in generation 1, after
the first square is removed? How much area is left in generations 2, 3, 4, and 5?
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Problem 2: In this case we have an area fractal. The initiator is a square; and we divide it into 9 squares,
and remove the middle square, as shown in these images. Now we can “do it again!”
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Questions:
a. (2 pts) Draw the next generation G2, generation 2, on the G1 square above.

b. (2 pts) The initial square is divided into 9 subsquares, and then 1 is removed. How many
squares will appear in generations 2, 3, 4, and 57
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b. (1 pt) The initial square hasarea equal to one unit. How much area is left in generation 1, after
the first square is removed? How much area is left in generations 2, 3,4,and 57
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Problem 2: In this case we have an area fractal. The initiator is a square; and we divide it into 9 squares,
and remove the middle square, as shown in these images. Now we can “do it again!”
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a. (2 pts) Draw the next generation G2, generation 2, on the G1 square above.
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b. (2 pts) The initial square is divided into 9 subsquares, and then 1 is removed. How many
squares will appear in generations 2, 3, 4, and 57

G2 will be 64 SUmrty
3 will be §lL jwmres /
Gy wil bt 4odé SqvaATES

G5 Wil be 32764 SPes

b. (1 pt) The initial square has area equal to one unit. How much area is left in generation 1, after
the first square is removed? How much area is left in generations 2, 3, 4, and 57
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Problem 2: In this case we have an area fractal. The initiator is a square; and we divide it into 9 squares,
and remove the middle square, as shown in these images. Now we can “do it again!”
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a. (2 pts) Draw the next generation G2, generation 2, on the G1 square above.

b. (2 pts) The initial square is divided into 9 subsquares, and then 1 is removed. How many
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b. (1 pt) The initial square has area equal to one unit. How much area is left in generation 1, after
the first squa‘je is rern\oved? How much area is left in i 2,3,4,and 57

67*"




